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Write the num ber names:
[. 8159 Sk
1. 7813
III. 8931
IV. 5115
V. 4142
VI. 6761
VII. 3587
VIII. 9157
IX. 2413
X. 8394
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gwer the following :
The number name for 9119 jq S
The numeral for four thousand foyr hundred forty is
In 5499, two 98 have their place values ag , :

. The difference of the two place values g

The predecessor of 4590 is

The successor of 6299 ig
Ring the smallest number : 4498, 4948 4489

Ring the largest number: 2657, 2756 2675
The short form of 3000 + 80 + 5

If hundred and tens places in 5789 are interchanged the new

number will be

Insert ‘<" or >’ or ‘=" :

3006 ) 3 th + 6 tens 999 +1C 1000
7th+8h+4tens+9ones () 7849

The 5th number of the series 325, 350, 375 will be

The predecessor of the smallest 3-digits number is

4990 comes between and

Smallest 3-digits number with different digits will be
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Answer the following :

1. Number name for 8067 is

2. Numeral for three thousand four hundred fiveis
3. 6th+7h+90nes=

4. The predecessor of 3100 is

5. The successor of 4509 is

6. Smallest number of 4-digits is

7. Largest number of 3-digits is

8. Complete the sequence :

315, 330, 345, , ;

9. Smallest possible number made with digits 6, 8,0, 4 is
10. comes just before 3000.

11. comes just after 2799.

12, is 50 less than 9780.
13 is 30 more than 9870.
14. 740 + 230 - 560 =
15. 2x3x11=7tens- ones.
16. 96+16=1+2+
17. 7358 x = 7358.
18. One third of a dozen =
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